The yellow highlighted are my answers for variable cost and fixed cost this is the only information that I have for this problem  it seems that I don’t have enough information to answer the break event point. Let me know what you think Total revenue 3 year average $163,085
Variable costs:    
	 
	2002
	2003
	2004

	Payroll and benefits
	$417,004.00
	$520,069.00
	$915,787.00

	Supplies
	$125,101.00
	$171,623.00
	$320,526.00

	Other
	$117,903.00
	$79,888.00
	$115,999.00

	Management
	$351,000.00
	$371,101.00
	$445,819.00

	Total 
	$1,011,008.00
	$1,142,681.00
	$1,798,131



	 
	Get the total of all three years and calculate the average for all three years.
	3,951,820 =   
       3
	3 year average= $1,317,273
 


Fixed costs:
	 
	2002
	2003
	2004

	 Rent and utilities
	$150,000.00
	$150,000.00
	$150,000.00

	 Telephone
	$24,000.00
	$24,000.00
	$24,000.00

	
	$174,000.00
         3


	Get the total of all three years and calculate the average for all three years
	3 year average

$58,000


Break-even point 
Use this formula 
PX = A + BX

PX = 58,000 + 1,317,273 (x)

where P = Unit cost or price of the service   
X = Amount of service to be provided (an unknown)

A = Fixed costs

B = Variable costs

Can not compute with out  the price of the service if I will make up one and do the problem to the best of my knowledge. 
Break-even point = 
Total revenue 3 year average $163,085
